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A 0OD0000O0OO0OODOoOoOoOobOOOoOooOboOon

#include<stdio.h>
#include<stdlib.h>
#include<time.h>
#include<math.h>
#define _N 64
#define SIMPLE_SPRNG
#include "sprng.h"

int overlap(int f,int g,int first,int last);

int energy(int a,int b,int c,int first,int last);

main(){
int j,k,1l,s,s_max,m,m_max;
static int p[_N],x[_N],y[_N],x_min[_N],y_min[_N],h[442] [_N],sum_h;
int x_plus,y_plus,x_minus,y_minus,x_flip,y_flip,x_reverse,y_reverse;
int v,v_plus,v_minus,v_flip,v_reverse,sum_v,v_max;
static double R,w_plus,w_minus,w_flip,w_reverse;
int e,e_plus,e_minus,e_flip,e_reverse;
int sum_e,sum_e_min,sum_e_max,sum_e_min_min;

int index_e_plus,index_e_minus,index_e_flip,index_e_reverse,index_e;

int index_v_plus,index_v_minus,index_v_flip,index_v_reverse;
static double sum_r_h,w[442] [_N],sum_w,r_w;

int 1i;

int seed=2734534;

int overlap(int f,int g, int first,int last){ /*overlap count*/
int ans;
ans=0;
for(j=first;j<last;j++){
if (f==x[j] && g==y[j1){
ans=ans+1;

if (ans>=2){
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ans=v_max;

break;

return ans;

} /*overlap count end*/

int energy(int a,int b,int c,int first,int last){ /*energy countx/
int ans;
ans=0;
if (c==1){
for(j=first;j<last;j++){
if (((a+1==x[j] || a-1==x[j]) && b==y[jl) && pl[jl==1)
{
ans=ans-1.0;
}
if (((b+1==y[j] [l b-1==y[j1) && a==x[j]1) && pl[jl==1)
{

ans=ans-1.0;

}
return ans;
}/*energy count endx*/

FILE *datafile;
init_sprng(DEFAULT_RNG_TYPE, seed, SPRNG_DEFAULT) ;

s=m=0;

sum_e_min=sum_e_max=0;

s_max=300000000;
m_max=100;

v_max=9; /*plot areax/
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sum_e_min_min=46;

for(1=0;1<442;1++){
for(j=0; j<_N; j++){
w[1][j]1=0.0;
}
}
for(1=0;1<sum_e_min_min;1++){
for(j=0; j<v_max; j++){
wl[1][j]=1.0;
}
}
for(1=0;1<442;1++){
for(j=0; j<_N; j++){
h([1] [j1=0;
}
}
plol=1;p[1]=1;p[2]=1;p[3]=1;p[4]=1;p[5]l=1;pl6]=1;p[7]=1;p[8]=1;p[9]=1;
pl10]=1;p[11]=1;p[12]=0;p[13]=1;p[14]=0;p[156]=1;p[16]1=0;p[17]=0;p[18]=1;
p[19]=1;p[20]=0;p[21]=0;p[22]=1;p[23]=1;p[24]=0;p[25]=0;p[26]=1;p[27]=0;
p[28]=0;p[29]=1;p[30]=1;p[31]=0;p[32]=0;p[33]=1;p[34]=1;p[35]=0;p[36]=0;
p[37]=1;p[38]=0;p[39]=0;p[40]=1;p[41]=1;p[42]=0;p[43]=0;p[44]=1;p[45]=1;
p[46]1=0;p[47]1=0;p[48]=1;p[49]=0;p[50]=1;p[611=0;p[52]=1;p[53]=1;p[54]=1;
p[55]1=1;p[56]=1;p[57]1=1;p[58]=1;p[59]=1;p[60]=1;p[61]=1;p[62]=1;p[63]=1;

for(j=0;j<_N-1;j++){ /*initial energy*/
sum_e_max=sum_e_max-(p[jl*p[j+1]1);

}

for(j=0;j<_N;j++){ /*sequence input*/
x_min[jl=j;

y_min[j]=0;

}

for(m=1;m<=m_max;m++){ /* "m" roopx*/

for(j=0; j<_N;j++){ /*sequence inputx*/
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x[jl=5;

y[j1=0;
}
sSum_e=sum_e_max,;

sum_v=0;
printf ("present sum_e_min=%2d m=/d\n",sum_e_min,m);

for(1=0;1<sum_e_min_min;1++){ /*hystgram initializex*/
for(j=0; j<v_max;j++){
h[1][j]1=0;
}

} /*hystogramu initialize endx/

sum_h=0;

for(s=1;s<=s_max;s++){ /*"s" roop*/

k=sprng () *_N;

e=e_plus=e_minus=e_flip=e_reverse=0;
index_e_plus=index_e_minus=index_e_flip=index_e_reverse=index_e=0;
v=v_plus=v_minus=v_flip=v_reverse=0;
index_v_plus=index_v_minus=index_v_flip=index_v_reverse=0;
x_plus=x_minus=x_flip=x_reverse=x[k];
y_plus=y_minus=y_flip=y_reverse=y[k];
w_plus=w_minus=w_flip=w_reverse=r_w=0.0;

sum_h=0;

e=energy (x[k],y[k],plk],0,_N);
for(j=0; j<_N;j++){ /*overlap countx*/
if(k!=j && (x[k]l==x[j] && ylkl==y[j1))
{
v=v+1;
break;
}

}/*overlap count endx*/
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if (k==0){ /*[0]lmonomer pivotx/
x_plus=x[1]-(y[0]-y[1]); /*+90 pivotx*/
y_plus=y[1]+(x[0]-x[1]);
v_plus=overlap(x_plus,y_plus,1,_N);
e_plus=energy(x_plus,y_plus,p[0],1,_N);

x_minus=x[1]+(y[0]-y[1]); /*-90 pivotx/
y_minus=y[1]-(x[0]-x[1]);
v_minus=overlap(x_minus,y_minus,1,_N);

e_minus=energy(x_minus,y_minus,p[0],1,_N);

x_reverse=x[1]-(x[0]-x[1]);/*180 pivot*/
y_reverse=y[1]-(y[0]-y[1]);
v_reverse=overlap(x_reverse,y_reverse,1,_N);
e_reverse=energy(x_reverse,y_reverse,p[0],1,_N);

} /*[0]Jmonomer pivot move endx*/

else if(k==_N-1){ /* [_N-1]lmonomer pivot movex*/
x_plus=x[_N-2]-(y[_N-1]-y[_N-2]); /*+90 pivotx*/
y_plus=y [_N-2]+(x[_N-1]-x[_N-2]);
v_plus=overlap(x_plus,y_plus,0,_N-1);
e_plus=energy(x_plus,y_plus,p[_N-1],0,_N-1);

x_minus=x[_N-2]+(y[_N-1]-y[_N-2]); /*-90 pivotx*/
y_minus=y [_N-2]-(x[_N-1]-x[_N-2]);
v_minus=overlap(x_minus,y_minus,0,_N-1);

e_minus=energy(x_minus,y_minus,p[_N-1],0,_N-1);

x_reverse=x[_N-2]-(x[_N-1]1-x[_N-2]); /%180 pivotx/
y_reverse=y[_N-2]-(y[_N-1]-y[_N-2]);
v_reverse=overlap(x_reverse,y_reverse,0,_N-1);
e_reverse=energy(x_reverse,y_reverse,p[_N-1],0,_N-1);
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} /*x[_N-1] pivot move end*/

else{
if (x[kl==x[k-1] && yl[kl==y[k+1]){ /* "plus flip" */
x_flip=x[k+1];
y_flip=y[k-1];
v_flip=overlap(x_flip,y_£flip,0,_N);
e_flip=energy(x_flip,y_flip,plk],0,_N);
}/* "plus flip" endx/

if (x[k]==x[k+1] && y[k]==y[k-11){ /* "minus flip" */
x_flip=x[k-1];
y_flip=y[k+1];
v_flip=overlap(x_flip,y_£flip,0,_N);
e_flip=energy(x_flip,y_flip,pl[k],0,_N);

} /* "minus flip" endx*/

if (x[k-1]==x[k+1] && ylk-1]==y[k+1]){/* jackknife move*/
x_plus=x[k-1]-(y[k]-y[k-1]); /*+90 pivot*/
y_plus=y[k-1]+(x[k]-x[k-1]);
v_plus=overlap(x_plus,y_plus,0,_N);
e_plus=energy(x_plus,y_plus,pl(k],0,_N);

x_minus=x[k-1]+(y[k]-y[k-1]);/*-90 pivot*/
y_minus=y [k-1]-(x[k]-x[k-1]);
v_minus=overlap(x_minus,y_minus,0,_N);

e_minus=energy(x_minus,y_minus,p[k],0,_N);

x_reverse=x [k-1]-(x[k]-x[k-1]); /%180 pivotx/
y_reverse=y[k-1]-(y[k]-y[k-11);
v_reverse=overlap(x_reverse,y_reverse,0,_N);

e_reverse=energy(x_reverse,y_reverse,pl[k],0,_N);
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}/*"else" endx/

/*multicanonical methodx*/

R=sprng() ;
index_e=-1*%(sum_e-sum_e_max) ;

if (k==0 || k==_N-1){
index_e_plus=-1*(sum_e+e_plus-e-sum_e_max) ;
index_e_minus=-1*(sum_e+e_minus-e-sum_e_max) ;
index_e_reverse=-1*(sum_e+e_reverse-e—-sum_e_max) ;
index_v_plus=sum_v+v_plus-v;
index_v_minus=sum_v+v_minus-v;
index_v_reverse=sum_v+v_reverse-v;
r_w=w[index_e_plus] [index_v_plus]+w[index_e_minus] [index_v_minus]+
wlindex_e_reverse] [index_v_reversel]+w[index_e] [sum_v];
w_plus=w[index_e_plus] [index_v_plus]/r_w;
w_minus=w[index_e_minus] [index_v_minus]/r_w;

w_reverse=w[index_e_reverse] [index_v_reversel]/r_w;

if (w_plus>R){
x[k]=x_plus;
y[k]=y_plus;
sum_e=sum_e+e_plus-e;
sum_v=sum_v+v_plus-v;
}
else if (w_plus+w_minus>R){
x[k]=x_minus;
y [k]=y_minus;
sum_e=sum_e+e_minus-e;
sum_v=sum_v+v_minus-v;
}
else if (w_plus+w_minus+w_reverse>R){
x[k]=x_reverse;
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y[k]=y_reverse;
sum_e=sum_e+e_reverse-e;
sum_v=sum_v+v_reverse-v;

else if ((x[k]==x[k-1] && y[kl==y[k+1]) || (x[k]==x[k+1] && ylkl==y[k-1])){
index_e_flip=-1*(sum_e+e_flip-e-sum_e_max) ;
index_v_flip=sum_v+v_£flip-v;

r_w=wlindex_e_flip] [index_v_flip]+w[index_e] [sum_v];
w_flip=w[index_e_flip] [index_v_flip]l/r_w;

if (w_flip>R){

x[k]=x_flip;

yk]=y_flip;

sum_e=sum_e+e_flip-e;

sum_v=sum_v+v_£flip-v;

}
}

else if (x[k-1]==x[k+1] && y[k-1]==y[k+1]){
index_e_plus=-1*(sum_e+e_plus-e-sum_e_max) ;
index_e_minus=-1*(sum_e+e_minus-e-sum_e_max) ;
index_e_reverse=-1*(sum_e+e_reverse—-e-sum_e_max) ;
index_v_plus=sum_v+v_plus-v;
index_v_minus=sum_v+v_minus-v;
index_v_reverse=sum_v+v_reverse-v;
r_w=w[index_e_plus] [index_v_plus]+w[index_e_minus] [index_v_minus]+
wlindex_e_reverse] [index_v_reverse]+w[index_e] [sum_v];
w_plus=w[index_e_plus] [index_v_plus]/r_w;
w_minus=w[index_e_minus] [index_v_minus]/r_w;

w_reverse=w[index_e_reverse] [index_v_reversel/r_w;
if (w_plus>R){

x [k]=x_plus;
y[k]=y_plus;
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sum_e=sum_e+e_plus-e;
sum_v=sum_v+v_plus-v;
else if (w_plus+w_minus>R){
x[k]=x_minus;
y[k]=y_minus;
sum_e=sum_e+e_minus-e;
sum_v=sum_v+v_minus-v;
else if (w_plus+w_minus+w_reverse>R){
x[k]=x_reverse;
y[k]=y_reverse;
sum_e=sum_e+e_reverse-e;
sum_v=sum_v+v_reverse-v;
}

/*multicanonical end*/
if (sum_e<=sum_e_min && sum_v==0){ /*ground statex*/
sum_e_min=sum_e;
for(j=0;3j<_N;j++){
x_min[jl=x[j];
y_min[jl=y[j];
}
}/*ground state endx*/
h[-1*(sum_e-sum_e_max)] [sum_v]=h[-1*(sum_e-sum_e_max)] [sum_v]+1;
} /* "s"roop end */

sum_r_h=0.0;

for(1=0;1<sum_e_min_min;1++){

for(j=0; j<v_max;j++){
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sum_h=sum_h+h[1] [j];
}

for(1=0;1<sum_e_min_min;1l++){ /*calculate sum_r_hx*/
for(j=0; j<v_max; j++){
sum_r_h=sum_r_h+w[1] [j1/(h[1] [j1+1.0);
}

}/*calculate sum_r_h endx/

for(1=0;1<sum_e_min_min;1++){ /* w[1l] [j] calculate */
for(j=0;j<v_max; j++){
w1l [j1=(w[1][j1/(a[1][j]1+1.0))/sum_r_h;
}

}/* w[l]l [j] calculate end */

sum_w=0.0;
for(1=0;1<sum_e_min_min;1++){
for(j=0; j<v_max; j++){
sum_w=sum_w+w [1] [§];

3

/*exe indicatex/

datafile=fopen("shape_biv.dat","w");

for(j=0; j<v_max; j++){
for(1=0;1<sum_e_min_min;1++){
fprintf(datafile,"%2d %2d %d\n",-1x1,3j,h[1][j1);
}

fprintf(datafile,"\n");

}

fclose(datafile);

datafile=fopen("shape_w.dat","w");
for(j=0; j<v_max;j++){
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for(1=0;1<sum_e_min_min;1++){
fprintf(datafile,"%2d %2d %f\n",-1*1,j,log(w[1][j1));
}
fprintf(datafile,"\n");
}
fclose(datafile);

datafile=fopen("shape_64_mod.dat","w");
for(j=0; j<_N;j++){
if (p[j1==0)1
fprintf(datafile,"%d %d\n",x_min[j],y_min[j]);
}
if(pljl==D{
fprintf(datafile,"%d %d %d %d\n",x_min[j],y_min[j],x_min[j],y_min[j]);
}
}
fclose(datafile);

printf ("minimum sum_e=%2.0d\n",sum_e_min);
printf ("%2f %d\n",sum_w,sum_h) ;

/*"m" roop end */

printf("\n""minimum sum_e=%2.0d\n",sum_e_min) ;
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